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Question Number : 1 Question Id : 97359794 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

The term SATA is an abbreviation for:
Options:

| « Serial Advanced Technology Attachment

- » Serial Asynchronous Technology Advancement
- u Serial Advanced Thunderbolt Arrangement

4 » Serial Articulated Technology Attachment

Question Number : 1 Question Id : 97359794 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O
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Question Number : 2 Question Id : 97359795 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O

An electronic circuit or software that Compresses or Decompresses videos is known as:
Options:

1 % Video Patch

> % Video Signal
3 « Video Codec
4 % Video Stream

Question Number : 2 Question Id : 97359795 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
v fagga a9y ar diveamy S fftadr # @R v 3w = g e w9 # S e 22

Options:

;% A A

> % qizar e
2 v A FIH
y w ST EH



Question Number : 3 Question Id : 97359796 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

Graphic Tablet belongs to which of the following categories?
Options:
, % Gaming Devices

- % Output Devices

5 w Storage Devices

4  Input Devices

Question Number : 3 Question Id : 97359796 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
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Question Number : 4 Question Id : 97359797 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
A piece of stiff paper containing digital information represented by the presence or absence of holes in predefined
positions is called:

Options:
| % Memory Card
- « Punch Card

- » ldentity Card

4 % Smart Card

Question Number : 4 Question Id : 97359797 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
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Question Number : 5 Question Id : 97359798 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

Which of the following terms correctly describes BINAC?
Options:
| % Binary Asymmetric Computer

-~ » Binary Asynchronous Circuit
5 % Binary Automatic Calculator

4  Binary Automatic Computer

Question Number : 5 Question Id : 97359798 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
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Question Number : 6 Question Id : 97359799 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
Which of the following directs flow of data between CPU and other devices?

Options:
| % Math Coprocessor

5 o Control Unit (CU)

5 » Arithmetic Logic Unit (ALU)

4 % Cache Memory

Question Number : 6 Question Id : 97359799 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
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Options:
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Question Number : 7 Question Id : 973597100 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
Which of the following provides Input and Output of Audio Signals to and from a Computer?

Options:
1 « Sound Card

- % Graphics Card
- % PCI-E
4 % Network Card

Question Number : 7 Question Id : 973597100 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O
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Question Number : 8 Question Id : 973597101 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
An instrument used to input commands to a Graphics Tablet. Computer Screen or Mobile Device is known as:

Options:
1 % Palm Pilot

> o Stylus
= % Pointer

, w Pantograph

Question Number : 8 Question Id : 973597101 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
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Question Number : 9 Question Id : 973597102 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O

The technique of comparing selected facial features from the image and facial database is known as:
Options:
, w Fingerprint Scanning

- % voice Recognition System

- » Facial Reconnaissance System

4 « Facial Recognition System

Question Number : 9 Question Id : 973597102 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
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Question Number : 10 Question Id : 973597103 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
Based on the Storage Capacity, which of the following is the smallest?
Options:

, w» Blu-ray Disk

> % Hard Disk
5  Floppy Disk

4 # Compact Disk

Question Number : 10 Question Id : 973597103 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O
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Question Number : 11 Question Id : 973597104 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
Which of the following is NOT a UNIX Shell?

Options:
1 # C Shell

> % Korn Shell
= % Bourne Shell
4 « Bomb Shell

Question Number : 11 Question Id : 973597104 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O
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Question Number : 12 Question Id : 973597105 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O
‘Which of the following directly executes instructions without previously compiling them into a machine langnage?

Options:
1 ¥ Interpreter

- u Compiler
= % Parser
4 » Runtime Library

Question Number : 12 Question Id : 973597105 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
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Question Number : 13 Question Id : 973597106 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

In operating systems, which of the following terminologies describes the state in which each member of a group is
waiting for some other member to release a resource?

Options:
, w Threading
> « Dead Lock

5 » [Ihrashing

, % Synchronization

Question Number : 13 Question Id : 973597106 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
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Question Number : 14 Question Id : 973597107 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
To create a file in Linux, which of the following commands is used?

Options:
1 % Chown
~ % Create

5 % CopyCon

4 + Cat

Question Number : 14 Question Id : 973597107 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
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Question Number : 15 Question Id : 973597108 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
A computer program designed to be run by the UNIX Shell is known as:

Options:

, % System Diagnostics
-  Shell Script

2 ® Command Interpreter
4 % Batch File

Question Number : 15 Question Id : 973597108 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
UNIX o/ & Tome & foIT 910 o T Feged Sems & ATH § ST FA1CT B

Options:

. % ATew smeAfEeTw
E_J%‘EFT%;‘TCT

L x FHAE FIX

Question Number : 16 Question Id : 973597109 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
In DOS and like operating systems, the term CLI generally refers to:

Options:

, % Command Logic Interpreter
> % Command Lateral Interaction
= % Command Lexical Interface
4 « Command Line Interface

Question Number : 16 Question Id : 973597109 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
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Question Number : 17 Question Id : 973597110 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
Which of the following options is used to change computer’s background by right-clicking anywhere on the desktop?

Options:
1 « Personalize

o w Seftings
5 % Appearance

4 # Screen Resolution

Question Number : 17 Question Id : 973597110 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O
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Options:
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Question Number : 18 Question Id : 973597111 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O

While starting Windows operating system. which of the following modes is used for diagnostics and troubleshooting
problems?

Options:
1 « Safe Mode

> % Normal Mode

5 % Command Prompt Mode

4 % Troubleshoot Mode

Question Number : 18 Question Id : 973597111 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
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Question Number : 19 Question Id : 973597112 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

In Windows systems. a small window that communicates information to the users and prompts them for a response is
khown as:

Options:
, % Windows Explorer
> % Administrative Tools

5 o Dialog Box

4 % Control Panel

Question Number : 19 Question Id : 973597112 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O
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Question Number : 20 Question Id : 973597113 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
Which of the following is NOT an option in window menu of Windows O0.8.7

Options:
1 % Maximize

> % Minimize
3 % Close
4

« Dock



Question Number : 20 Question Id : 973597113 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
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Question Number : 21 Question Id : 973597114 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
Which of the following devices allows a computer to keep running when the primary power source is lost?

Options:

1 % Router
> # Rectifier
> o UPS

4 % Inverter

Question Number : 21 Question Id : 973597114 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O
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Question Number : 22 Question Id : 973597115 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

Which of the following terms correctly defines the study of techniques for secure communication by constructing and
analysing protocols to prevent the public from reading private messages?

Options:
| ® Spamming

» % Hashing
z % Checksum

4  Cryptography



Question Number : 22 Question Id : 973597115 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
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Question Number : 23 Question Id : 973597116 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

In Computer Security. the process of recovering the passwords from the data that have been stored in computer system
is described by:

Options:

, « Password Cracking

> % Password Hacking

5 » Password Breaking

4 # Password Guessing

Question Number : 23 Question Id : 973597116 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
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Question Number : 24 Question Id : 973597117 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

In Windows O.S.. which of the following ufilities is used to manage settings and driver software for system hardware
including peripheral devices?

Options:

, w Troubleshooting

5 #® Programs and Features



-  Device Manager

4 % Windows Mobility Center

Question Number : 24 Question Id : 973597117 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
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Options:

Question Number : 25 Question Id : 973597118 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O

In Windows O.S. the built-in software product that attempts to detect and remove malware is comumonly known as:
Options:
| % Recovery

- w Security and Maintenance

5 « Windows Defender

4 % Windows Firewall

Question Number : 25 Question Id : 973597118 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O
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Question Number : 26 Question Id : 973597119 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
Which of the following options allows user to view and manipulate basic system settings?
Options:

, » Recycle Bin



5 % My Documents

= « Control Panel
4 % My Network

Question Number : 26 Question Id : 973597119 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O
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Question Number : 27 Question Id : 973597120 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
The method of keeping the files up to date that are stored in several different physical locations is known as:

Options:
1 # File Maintenance

-  File Synchronization
- u File Recording
4 » File Tracking

Question Number : 27 Question Id : 973597120 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O
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Options:
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Question Number : 28 Question Id : 973597121 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O
To undo an action while writing into a file. which of the following shortcuts can be used?



Options:

{ « CTRL+Z
& 8 CTRL.+E
3 ®# CTIRL+V
4 % CIRL+U

Question Number : 28 Question Id : 973597121 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O
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Options:

.« CTRL + Z

- CTRL + C

= % CTRL +V

% CTRL + U

Question Number : 29 Question Id : 973597122 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
Which of the following is the Microsoft Help browser to view the Windows Help Documents?

Options:
1 #% Win32.exe
-  Winhlp32.exe

5 % Synaptics.log

4 % Win.ini

Question Number : 29 Question Id : 973597122 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
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Options:

1 # Win32.exe
-  Winhlp32.exe

5 % Synaptics.log

4 % Win.ini

Question Number : 30 Question Id : 973597123 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
Which of the following is a library of official technical documentation intended for developers developing Microsoft
Windows?

Options:



, ®# WSDL
> % UDDI
5  MSDN
4 % JSDK

Question Number : 30 Question Id : 973597123 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
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Options:

., %= WSDL
- % UDDI
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Question Number : 31 Question Id : 973597124 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
The process of creation of documents using page layout skills and produce typographical quality text for printing on a
desktop computer is usually known as:

Options:
, w Desktop Editing

- u Desktop Printing

5 % Desktop Formatting

4  Desktop Publishing

Question Number : 31 Question Id : 973597124 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
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Question Number : 32 Question Id : 973597125 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O



In MS Office. the term ODF stands for:
Options:

, w Object Document Format

5 Open Document Format
- % Object Data Format

4 % Open Data Format

Question Number : 32 Question Id : 973597125 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
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Question Number : 33 Question Id : 973597126 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

Which of the following options is used to setup document margins in MS Word?
Options:

1 Page Setup
5> # View

z % Review

4 % Home

Question Number : 33 Question Id : 973597126 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
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Options:
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Question Number : 34 Question Id : 973597127 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0



A word document with predefined page layouts, fonts. margins and styles 1s known as:
Options:
|  Template

5 % PageSetup

5 % Print Layout

4 % Macro

Question Number : 34 Question Id : 973597127 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
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Options:
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Question Number : 35 Question Id : 973597128 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
Which of the following is NOT a featured Word Extension?

Options:
, % DOCX

5 o DOSX
2 % DOCM
4 % DOTIM

Question Number : 35 Question Id : 973597128 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
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Options:

. % .DOCX
., « .DOSX
- « .DOCM
, # .DOTM

Question Number : 36 Question Id : 973597129 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
To create a Superscript which of the following shortcuts is used?

Options:



, # SHIFT +F7

> % CTRL+S
s « CTRL + SHIFT ++
4 % CTRL+U

Question Number : 36 Question Id : 973597129 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
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Options:

. = SHIFT + F7
> % CTRL + S
- v CTRL + SHIFT ++
4 % CTRL + U

Question Number : 37 Question Id : 973597130 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
Which of the following keyboard shortcuts is used to navigate from one worksheet to the next in the decreasing order of
worksheet numbers?

Options:

1 % CIRL+F1

5 CTRL + PgUp
= % CTRL +F10
4 % CTEL +PgDn

Question Number : 37 Question Id : 973597130 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

waﬁmﬂm?wﬁmmﬁfmqrm#ﬁwmﬂﬁﬁmﬂmﬁéﬁ
F gIeT BT Sar 22

Options:

; # CTRL + F1

- « CTRL + PgUp

z ®# CTRL + F10

4 » CTRL + PgDn

Question Number : 38 Question Id : 973597131 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O

What does SUMIF() function do?
Options:

, w Adds all numbers in a range of cells



- % Returns a subtotal of numbers

5 » Adds all numbers based on conditional formatting

4  Addsup cell values based on a condition

Question Number : 38 Question Id : 973597131 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
SUMIF() Therere 2T FIaT &7

Options:

| % T AT A0 F whr Tt # s ¥

, » TSI & 39 FeT ST &

o % TS BIHATIT & IR 9 Ff FEA3 & AT gl
L v T Ad & IR W U & A H AT 8l

Question Number : 39 Question Id : 973597132 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
What does the VLOOKUP() function do?

Options:
, % Checks vertical alignment of the text

- » Finds records beginning with letter “V™

= « Finds related records

4 % Checks data validation

Question Number : 39 Question Id : 973597132 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
VLOOKUP() %2l T &3aT 87

Options:

| % FES & FEAR EW@OT T AT FIAT g
Ly FER A F WA U @A Ao HHerEr F# gear
., Tefa wfgew g B

, % STET ATEOT &I AT FA gl

Question Number : 40 Question Id : 973597133 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
The expression = FACT(5) would return which of the following value?

Options:



1 ® G0
5. o 120
3 % 5*4*3*2%]

4 % True

Question Number : 40 Question Id : 973597133 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

== = FACT(5) T=fofaa 7 ¥ #i7 a@r a9 9o FTar £2
Options:

; = 60

5 @ 120

= b*¥4*3*2*1

4 #% True

Question Number : 41 Question Id : 973597134 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O

Which of the following CANNOT be pasted selectively using Paste Special?
Options:

1 % Formulas

> % Values

= % Formats

4 « Subtotals

Question Number : 41 Question Id : 973597134 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

fT=oTea § O g 9T TN &1 93197 i I397d & T UL AT far 31 =har &7
Options:

;ox B

> ® Hlel

= % 99

4 v 3I-TET

Question Number : 42 Question Id : 973597135 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O

Which of the following statements is FALSE about Importing Data into Excel?
Options:

, « Data can be imported from HTML file

-~ % Data can be imported from XML file



- % Data can be imported from Text file

4, % Data can be imported from SQL Server

Question Number : 42 Question Id : 973597135 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

foafag Faal § @ Fi9 7 ta8d § =T 30T Fid F a9 H g 27

Options:

» 1T TEETATE (HTML) ®8a & 31ara fhar s & 8

1

, % ST&T THFAUATH (XML) B & Faa fFar 31 Faher 2

« ST TFEE BIES H HAT AT AT FFAT B
. 57 THFEUS (SQL) T ¥ Id A A whar

=t
4.

Question Number : 43 Question Id : 973597136 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O
Which of the following is a valid Excel file extension?

Options:

; ® XSLT
> o XLSB
= # .PPSX
4 % ASPX

Question Number : 43 Question Id : 973597136 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O
T=faf@a 7 8 Fi7 77 & 3 8T BT TFEST 27

Options:

, % XSLT
, v XLSB
- = PPSX
. = ASPX

Question Number : 44 Question Id : 973597137 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

A health survey conducted in schools, gathered students” heights and weights. Which
of the following chart types would be more suitable in order to show correlation
between the heights and the weights measured?

Options:
1 % Bar Chart



- % Line Chart
3 o Scatter Chart

4 % Column Chart

Question Number : 44 Question Id : 973597137 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
fgareat # orEt # Fa% 3R 399 & AR U Ty waarT o ) AesfafEa e gt #®
¥ @i @ AT R FEE AR a9 & s 1wy Gwe & v 36w s9gea gem?

Options:

1 % X e
> % Y@ AE
5 v Fhel T
, x T A

Question Number : 45 Question Id : 973597138 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
The expression = UPPER("excel") would return which of the following value?

Options:

1. % LECXE
- # excel
3 ® Excel
4 v EXCEL

Question Number : 45 Question Id : 973597138 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

=I=% = UPPER("excel") T==of@a & & #i9 @1 79 a9 =T g7
Options:

, » LECXE

> % excel

2 # Excel
4 « EXCEL

Question Number : 46 Question Id : 973597139 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
Which of the following combinations opens Format Cells option?

Options:
i ® CTRL+9

> % CTRL+0



3  CTRL+1
4 # CTRL+6

Question Number : 46 Question Id : 973597139 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
forafoiea & O &9 O FOSd G O @eeT 39T 3T 22

Options:

, % CTRL
» » CTRL
- ¢ CTRL +
. = CTRL

+ 4+
» = O ©

+

Question Number : 47 Question Id : 973597140 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
Which of the following is a standard network protocol used to transfer the files between client and a server?

Options:
i % SMTP

> « FTP
T B 1P
4 % STTP

Question Number : 47 Question Id : 973597140 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
A=fET # o Fi9 O % A% A3F SeFT FoEe T 99T F €9 wiEer 7 TN i+
T g2 B sEr &2

Options:

. % SMTP
> ¢ FTP
4 = STTP

Question Number : 48 Question Id : 973597141 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

The term XML is an abbreviation of:
Options:

, w Expressive Markup Language

» » Expandable Markup Language

- » Extensive Markup Language



i Extensible Markup Language

Question Number : 48 Question Id : 973597141 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

oez XML e gfdéeg &7 &2
Options:

| % UFHUET ARHT deas
- % UFHISTA HARHT oadsf
5 % UFHCTHS HAFHT o
4 v UFHCTHTS ATRHT oIas

Question Number : 49 Question Id : 973597142 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O
In World Wide Web terminologies. a collection of web sites by Category and Sub Category is often referred to as:

Options:
1 % Web Site
> % WwebPage

=  Web Directory

4 % Web Portal

Question Number : 49 Question Id : 973597142 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O

o2 T3 3T A ETaar H, Aofr 3T 37 Ao F w7 F I9TEA F UF T # IR FE T H
fRfese forar s 27

Options:

1 ® 1:”“53

o B ﬂﬁ'ﬁ?

. o I ST

4 B ﬂﬁ'tﬂé?-l‘

Question Number : 50 Question Id : 973597143 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
The Process of sending the data to the web server on the internet from a local computer is known as:

Options:
, « Uploading

- » Downloading



5 » Linking

, » Embedding

Question Number : 50 Question Id : 973597143 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
$eTAT W TF FUT Foed H 39 Haxg W 37eT A7 H Ghar & e & F AT 1T 872

Options:

Question Number : 51 Question Id : 973597144 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O
The data that provides information about other data is known as:

Options:
1 % Meta Information

> % Meta Links
3 « Metadata
4 % Meta-Search Engine

Question Number : 51 Question Id : 973597144 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
Jg S1eT S 3 e & 9 H FAFFNT 919 FaT &, I8 g AT AT gl

Options:

| % HET STHIHAS
> Hel orw
= v HITSET

.5
, % HI-E &4

Question Number : 52 Question Id : 973597145 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
Which of the following options is NOT a Video Conferencing application?

Options:
, % Skype

5 o VEC



s ® Yahoo! Messenger

4 8 AOL Instant Messenger

Question Number : 52 Question Id : 973597145 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
aaRa el # ¥ #i7 a1 v BT FIopTaeT ToaeRelT J6r 872
Options:

| w EPIRH

READING COMPREHEMNSION

Section Id : 97359724

Section Number : 2

Section type: Online

Mandatory or Optional: Mandatory

Number of Questions: 1

Number of Questions to be attempted: 1

Section Marks: 5

Display Number Panel: Yes

Group All Questions: No
Sub-Section Number: 1
Sub-Section Id: 97359724
Question Shuffling Allowed : Yes

Question Id : 973597146 Question Type: COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension

Questions: No

Question Numbers: (53t057)
Juestion Label @ Comprehension



Read the following passage and answer the questions given after it.

There was once a king who ruled over Persia. and he had a son. The son fell in love
with a shepherd’s daughter. So one day he went to his father and said. “My Lord. I
love a shepherd’s daughter. and I would like to marry her.”

“When the king heard this. he was quite upset. He replied. “I am the king of the
Persians and you are my son. When I die. you will be the king. How can you even
think of marrying a shepherd’s daughter?” °

‘But the son said. “My Lord. I love this girl and would have her for my queen.” ’

‘The king realized that his son truly loved this girl and he said. “Alright I'll send a
message to her.” So he called a messenger and said. “Go to the shepherd’s daughter
and say that my son loves her and would have her for his wife.” And the messenger
went to the girl and he said. “The king’s son loves you and would have vou for his
wife.” ’

‘Hearing this the girl replied.” What work does the king’s son do?”

The messenger said, “Work! He is the son of the king -- he does no work.”

‘And the girl replied calmly. “He must learn to do some work.”

‘The messenger returned to the king and repeated the words spoken by the
shepherd‘s daughter.’

‘And the king said to his son, *The shepherd’s daughter wishes you to learn some
craft. Do you still want to marry her?”

“The son said, “Yes, I will learn to weave straw rugs.”

‘So the prince was taught to weave rugs of straw. in patterns and in colors and with
ornamental designs. and at the end of three days he was making very fine straw rugs.
Then the king sent the messenger back to the shepherd’s daughter and the messenger
said.” These mugs of straw are the work of the king’s son.” ’

‘And the girl agreed to marry the prince. She went to the king’s palace, and she
became the wife of the king’s son.”

Sub questions

Question Number : 53 Question Id : 973597147 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
The shepherd’s daughter was:

Options:
1 « Wise and Practical

> w lmpulsive
= % Ambitious
4 » Knowledgeable

Question Number : 54 Question Id : 973597148 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0



The king’s son learnt to weave straw rugs because:
Options:

, w hewanted to earn a living.

- u hewanted to please his father.

-  he wanted to please the girl he loved.

4 % he believed in the dignity of labor.

Question Number : 55 Question Id : 973597149 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
The rugs that the king’s son wove were:

Options:

1 + ornamental
- % simple

- % traditional

4 % delicate

Question Number : 56 Question Id : 973597150 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
The shepherd’s daughter married the king’s son because:

Options:
1 % she was in love with him.
- « he had obliged her and learnt to weave straw rugs.

5 % he was the king’s son.

4 % he had fallen in love with her.

Question Number : 57 Question Id : 973597151 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O
What was the most leading trait of the king?

Options:
1 % Orthodox

5 % Arrogant
= % Narrow minded
4 « Flexible

Question Id : 973597146 Question Type: COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions: No

Question Numbers: (53t057)
Juestion Label - Comprehension
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Sub questions

Question Number : 53 Question Id : 973597147 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical



Correct: 1 Wrong: 0

SICIIC IR e ofr|
Options:

| v FAESER 3R aEriE
o ® SRS

5 % HgccdTehrad
4 % SHASR

Question Number : 54 Question Id : 973597148 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes

Single Line Question Option : No Option Orientation : Vertical
Correct: 1 Wrong: 0
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Options:
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Question Number : 55 Question Id : 973597149 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

TSt & T GaRT e gT Frella |

Options:

l_ymﬁ_a'

Question Number : 56 Question Id : 973597150 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
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Options:
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Question Number : 57 Question Id : 973597151 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
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Options:
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CUANTITATIVE APTITULE
Section Id: 97359725
Section Number : 3
Section type: Online
Mandatory or Optional: Mandatory
Number of Questions: 6
Number of Questions to be attempted: 6
Section Marks: 6
Display Number Panel: Yes
Group All Questions: No
Sub-Section Number: 1
Sub-Section Id: 97359725
Question Shuffling Allowed : Yes

Question Number : 58 Question Id : 973597152 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

The fractions % ; 15—2 5 g . and i are written in the ascending order as:
Options:
5 @ i
{ % 12°578" 4
i
> % 87574712
-0
3% 12°8°47 s
T &
4 47875 12

Question Number : 58 Question Id : 973597152 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical



Correct: 1 Wrong: 0

2 22, 3k ! ot @ amd wA A R

E!E.‘g!
Options:
5.2 31
1& 12!5..8"1
321 5
=t B S R S
5 3 1@
3‘53 -12!8.'4!5
t32 .5
4« 4" 87 57 12

Question Number : 59 Question Id : 973597153 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
By selling a shirt for Rs 432, Rima loses 4%. For how much should she sell it to gain 6%7?

Options:

1 « Rs 477
> % Rs 475
= % Rs 466
4 % Rs 462

Question Number : 59 Question Id : 973597153 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

TF FHAIST T T 432 F 397 W {77 1 4% Fr a7t 2 &1 6% =y o= & v =w w = F+r w
Ao 9T &= F1T =@1ge?

Options:

| @ F 477
, % ¥ 475
s ® W 466
. % F 462

Question Number : 60 Question Id : 973597154 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
If 30 persons do a certain work in 12 days working § hours a day. then 18 persons will do the same work working 10
hours a day in:

Options:
, % 15days

> o 16days
5 » 18days

4 ® 20days



Question Number : 60 Question Id : 973597154 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

IfE 30 o T F SfafeT 8 o FH F 12 AT F §ATT ¢ FFa
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Options:

;= 15 fea
2 v 16 o
5 % 18 ot
4 = 20 fe=

Question Number : 61 Question Id : 973597155 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

The average age of 6 children is 12 years. The average age of the first two children is 10 yvears. and the next two is 14
yvears. What is the average age of the remaining two children?

Options:
| % 11 years

5 of 12 years

5 % 13 years

4 8 14 years

Question Number : 61 Question Id : 973597155 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
6 T=at #T IHa g 12 I F| g g F== Hr ATT HY 10 I§ AR 30T & Fr 7Y 14 I 7 €
& ar F== #r 3w g Fw E?

Options:

{ % 11 a9
5 12 3%
s % 13 a¥
4 % 14 3§

Question Number : 62 Question Id : 973597156 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O

In what ratio should tea worth Rs 300 per kg and tea worth Rs 450 per kg be mixed so as to get a mixture worth Rs 400
per kg?

Options:

1% 2:3



—
[

Question Number : 62 Question Id : 973597156 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

¥. 300 gfafear aer aragedr €. 450 gfafeer s s & @y e segaa 7 A G
AT =TT i T 1 F 400 gfafear #1 27 ¥ 997 31§72

Options:
% 2:3
P i
2% 32
g 2 51

Question Number : 63 Question Id : 973597157 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

The circumference of the base of a cylinder is 176 cm and its height is 65 cm. Its largest surface area (in cm:j} 15
Options:

1 % 4980

~ % 5720

= % 8080

4 « 11440

Question Number : 63 Question Id : 973597157 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
U FO F HUR F GRS 176 T § H sHdr FenE 65 WA | SHHT HARAH TTET STG (WA
) gem:

Options:

. % 4980

- % 5720

s % 8080

4 ¢ 11440

GEMERAL MEMNTAL ABILITY AMND EEASONIMNG

Section Id: 97359726
Section Number : 4
Section type: Online
Mandatory or Optional: Mandatory
Number of Questions: 6

Number of Questions to be attempted: 6



Section Marks: 6

Display Number Panel: Yes

Group All Questions: No
Sub-Section Number: 1
Sub-Section Id: 97359726
Question Shuffling Allowed : Yes

Question Number : 64 Question Id : 973597158 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

In the following question. a number series is given with one term missing. Choose the correct alternative that will
continue the same pattern and fill in the blank space.

3,2, 5, 32. 2756 Y21 )

Options:

1 ® 246

o> % 247

= o 248

4 % 249

Question Number : 64 Question Id : 973597158 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O
frafaf@a o & T 4[@eT T I°d 92 & WY & A g TE Fweq #F g S ve & dea I
@eT AR g wae $r seg e

1, 2.5 %2 27. 58 121, { 7}
Options:

| % 246
, % 247
2 248
. % 249

Question Number : 65 Question Id : 973597159 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
Select the lettered pair that has the same relationship as the original pair of words.

Badminton : Court
Options:
, w» Hockey : Stick

-  Skating : Rink

5 # Cricket : Bat



4 % Football : Goal

Question Number : 65 Question Id : 973597159 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
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Question Number : 66 Question Id : 973597160 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

Amit walked 30 metres towards East. took a right turn and wallced 40 metres. Then he took a left turn and walked 30
metres. In which direction is he now from the starting point?

Options:

1 # North-east
-~ % East

= « South-east

4 % South

Question Number : 66 Question Id : 973597160 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O
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Question Number : 67 Question Id : 973597161 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
Pointing to the woman in the picture. Rajiv said. “Her mother has only one grandchild whose mother is my wife. “How
is the woman in the picture related to Rajiv?



Options:
1 % Cousin

> o Wife
3 % Sister

4 w Daughter

Question Number : 67 Question Id : 973597161 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
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Question Number : 68 Question Id : 973597162 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O
If P denotes +, Q denotes X . R denotes ~ and S denotes —, then what is the value of 18 Q 12P4R 5 S 6?

Options:

Question Number : 68 Question Id : 973597162 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
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Question Number : 69 Question Id : 973597163 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0



Study the below diagram carefully to answer the question that follow.

The triangle stands for Hindi-Speaking people, Circle for French-speaking. square for English-speaking and rectangle
for German-speaking people.

Which one of the following statements is true?
Options:
; = AllFrench-speaking people speak German.

- u All French-speaking people speak English.
- # All German-speaking people speak English and Hindi.

4  All French-speaking people speak Hindi also.

Question Number : 69 Question Id : 973597163 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
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Question Number : 70 Question Id : 973597164 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
Which of the following Vice-Presidents of India has served two terms?

Options:
, w Bhairon Singh Shekhawat

Krishan Kant

S

e

5 % K. R. Narayanan

4 « Mohammad Hamid Ansari

Question Number : 70 Question Id : 973597164 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O
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Question Number : 71 Question Id : 973597165 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
World AIDS Day is observed everywhere around the world on:

Options:
; ® 16% October



5 « 1% December
-z % 14" November

4 % 15% September

Question Number : 71 Question Id : 973597165 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
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Question Number : 72 Question Id : 973597166 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
Which country was severely struck by Cyclone Winston in 20167

Options:
1 % Australia

- » Philippines
= % New Zealand

. v Fiii

Question Number : 72 Question Id : 973597166 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
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Question Number : 73 Question Id : 973597167 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
Who among the following is the founder of Facebook?

Options:



1 % Steve Jobs
-~ % Steve James
= % Saber Bhatia

4 « Mark Zuckerberg

Question Number : 73 Question Id : 973597167 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
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Question Number : 74 Question Id : 973597168 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

Which actress won the National Award for Best Actress in 20147
Options:

, = Priyanka Chopra

-  Gitanjali Thapa
5 » Vvidya Balan
4 % Kangana Ranaut

Question Number : 74 Question Id : 973597168 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
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Question Number : 75 Question Id : 973597169 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
Which is the latest novel written by Salman Rushdie?

Options:



1 % Shalimar the Clown

> % Fury

= % The Enchantress of Florence

4  Two Years Eight Months and Twenty-Eight Nights
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Correct: 1 Wrong: 0
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It is welcorme that the srmart City project is progressing, with the announcerment of 20 urbar centres that will
start receiving central grants to develop along the desired lines of inclusion, functionality, security, energy
efficiency and connectivity. As India urbanises at an accelerating pace, it is vital to Create habitats that allow
people to be productisve. The urban renewal mussion that began under the TUPA government has received a
boost as the Smart City programumne of the present government. However, one feature that has been neglected,
by and large, in the thinking on urban srartness is governance. Towrs need elected local governrments with
clearly delegated adrninistrative powers and responsibilities, backed with the financial means to discharge
therr, not authorities run by civil servants reporting to the state government, as has been the norm of late.
Cwer the next couple of decades, if India is to become half urban urbanisation in southern states is already 40
per cent plus that will mean an addition of 25 crore people to the population of towns. They cannot possibly
e accornrmodated in existing towns, however smart and redeveloped these are. ndia needs to build new
towTls, occupying anything up to 20,000 5q. km, depending on how densely the towns are populated. And new
towns offer the masdimum scope for deployment of new town planning concepts, efficient public transport,
arnd a mixture of housing for different income groups that still averts sound connectivity by road, air and
telecormn. More policy resources hawve to be devoted to new urbanisation. Andhra Pradesh chief minister
Chandrababu Naidu is building a new capital for his state, using sorme novel methods of land procurement
and financing. This experience must be documented at every stage and all evidence made available to
researchers, to generate policy lessons. UMN-Habitat carries out useful studies of the ongoing urbanisation
experience around the world and makes recormmendations worth following. India does need fresh thinking on
urbanisation, no doubt, but that does rnot mean we have to reinvent the wheel. Towns need elected local
governments with clearly delegated administrative powers and responsibilities, backed with the financial
means to discharge thern, not authorities run by civil servants reporting to the state government, as has been
the norm of late. Ower the next couple of decades, if India is to become half urban-urbanisation in southern
states is already 40 percent plus that will mean an addition of 25 crore people to the population of towns.
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